Installation Instructions

0[ 1] CABINET REQUIREMENTS

Cabinet must comply with these dimensions.

(igy <ov S
S 9 <&
Py S

0| 2] INSTALL LOWER EXHAUST
GUIDE

Turn the Microwave upside down and install the
Lower Exhaust Guide using three M4 x 8 screws.

NOTE: Ensure the orientation of the Rear flange is
correct (i.e. Opening pointing forward).

0 [3] INSTALL UPPER EXHAUST
GUIDE

Return the Microwave to its upright position
and install the Upper Exhaust Guide using
four M4 x 8 screws.

NOTE: Ensure the orientation of the Rear flange is
correct (i.e. Opening pointing forward).

0[ 4 | INSTALL TRIM PIECE

Mount Trim Piece onto the front of the Microwave
and secure on both sides using four M4 x 10 screws,
2 on each side.




Installation Instructions

0[5 | MOUNT MICROWAVE

Place the Microwave close to the Cabinet opening
and fit the Power Cord (Plug End first) through
the 2.5” x 2.5” (100 mam x 100 mm) opening.

Slide the microwave into the Cabinet and, at the
same time, ensure the Power Cord continues to be
drawn through the opening.

ot %

0 [ 6 | FASTEN THE MICROWAVE

Centre the Microwave in the opening, pre-drill 4 holes
through the Trim Piece into the Cabinet then attach
the Microwave/Trim Piece assembly to the Cabinet
using 4 M3 x 20 screws (1 in each corner).

25"
25" (100 mm)
(100 mm) i
/l
i
|
r
5 ‘.
\

350A4502P714

29-5792

08-011 ATS Printed in China




